
PASSENGER VECHICLE
www.aplus-automotive.com

MAY 2019



TIE ROD

31271AP AUDI

LEFT
* Handed : 31272AP
Front Axle

:1998/10TT (8N3) 2006/06 8N0422803D D M16x1,5

:1999/10TT (8N9) 2006/06 M M12x1,5

:1999/10TT Roadster (8N9) 2006/06 ld M16x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12428AP TIE ROD END (LEFT) 8N0422811A

31273AP AXIAL JOINT (LEFT & RIGHT) 8N0422803D-P
8N0422804D-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 1

TIE ROD

31271AP AUDI

LEFT
* Handed : 31272AP
Front Axle

:1998/10TT (8N3) 2006/06 8N0422803D D M16x1,5

:1999/10TT (8N9) 2006/06 M M12x1,5

:1999/10TT Roadster (8N9) 2006/06 ld M16x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12428AP TIE ROD END (LEFT) 8N0422811A

31273AP AXIAL JOINT (LEFT & RIGHT) 8N0422803D-P
8N0422804D-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 1

MAY 2019



TIE ROD

31272AP AUDI

RIGHT
* Handed : 31271AP
Front Axle

:1998/10TT (8N3) 2006/06 8N0422804D D M16x1,5

:1999/10TT (8N9) 2006/06 M M12x1,5

:1999/10TT Roadster (8N9) 2006/06 ld M16x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12427AP TIE ROD END (RIGHT) 8N0422812
8N0422812A

31273AP AXIAL JOINT (LEFT & RIGHT) 8N0422803D-P
8N0422804D-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

AXIAL JOINT

31273AP AUDI

LEFT & RIGHT
Front Axle

:1998/10TT (8N3) 2006/06 8N0422803D-P D M16x1,5

:1999/10TT (8N9) 2006/06 8N0422804D-P M M16x1,5

:1999/10TT Roadster (8N9) 2006/06 L 354,3

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 2

MAY 2019



WISHBONE

29915AP BMW

LEFT & RIGHT
Upper Front Axle

:2016/115 SERIES G30 X DRIVE - 31126870026 ID Ø10,2

:2016/115 SERIES G30-G31 - bl 51,8

:2016/11DRIVE - l 267

2016/115 SERIES G31 X DRIVE -

2017/076 SERIES GT (G32) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

29916AP SILENTBLOCK (LEFT & RIGHT) 33106864374

COMPONENT PART NUM. COMPONENT NAME OEM NO

WISHBONE

29918AP BMW

LEFT & RIGHT
Upper Front Axle

:2016/115 SERIES G30 X DRIVE - 31106861185 ID Ø10,2

:2016/115 SERIES G30-G31 - bl 51,8

:2016/11DRIVE - l 266,5

2016/115 SERIES G31 X DRIVE -

2017/076 SERIES GT (G32) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

29916AP SILENTBLOCK (LEFT & RIGHT) 33106864374

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 3

MAY 2019



WISHBONE

30795AP BMW

LEFT & RIGHT
Upper Front Axle

:2015/077 SERIES G11 (X DRIVE) G12 (X
DRIVE) - 31126870024 ID Ø10,2

:2015/077 SERIES G11 & G12 - bl 51,8

:l 2666,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

29916AP SILENTBLOCK (LEFT & RIGHT) 33106864374

COMPONENT PART NUM. COMPONENT NAME OEM NO

WISHBONE

31009AP BMW

LEFT & RIGHT
Upper Front Axle

:2015/077 SERIES G11 (X DRIVE) G12 (X
DRIVE) - 31126870023 ID Ø10,2

:2015/077 SERIES G11 & G12 - bl 51,8

:l 266,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

29916AP SILENTBLOCK (LEFT & RIGHT) 33106864374

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 4

MAY 2019



WISHBONE

31024AP BMW

LEFT & RIGHT
Upper Front Axle

:2015/077 SERIES G11 (X DRIVE) G12 (X
DRIVE) - 31106868530 ID Ø10,2

:2015/077 SERIES G11 & G12 - bl 51,8

:l 266,60

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

29916AP SILENTBLOCK (LEFT & RIGHT) 33106864374

COMPONENT PART NUM. COMPONENT NAME OEM NO

BALL JOINT

31247AP CADILLAC

LEFT & RIGHT
Upper Front Axle

:2004/01SRX 2009/12 11519879 M M12x1,75

:2007/01STS - 1580692122 T Ø42,1

19181784

19181785

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 5

MAY 2019



TIE ROD END

31256AP CADILLAC

LEFT
* Handed : 31257AP
Front Axle

:2004/01SRX 2009/12 88957176 CL Ø16

:2005/01STS 2008/12 CU Ø13,08

:D M14x1,5

:M M12x1,75

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD END

31257AP CADILLAC

RIGHT
* Handed : 31256AP
Front Axle

:2004/01SRX 2009/12 88957172 CL Ø16

:2005/01STS 2008/12 CU Ø13,08

:D M14x1,5

:M M12x1,75

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 6

MAY 2019



AXIAL JOINT

31265AP CADILLAC

LEFT & RIGHT
Front Axle

:2005/01STS 2008/12 15257557 D M14x2

:M M14x1,5

:L 128,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

BALL JOINT

31269AP CADILLAC

LEFT & RIGHT
Front Axle

:2004/01XLR 2009/12 10279466 CL Ø20

:CU Ø14,4

:M M14x2

:T Ø49,2

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 7

MAY 2019



BALL JOINT

31310AP CADILLAC

LEFT & RIGHT
Lower Front Axle

:2004/01SRX 2009/12 15270101 CL Ø21,7

:15806921 CU Ø17

:158069211 M M14x2

:15806922 T Ø45,2

15921069

15921070

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

30647AP CHEVROLET

LEFT & RIGHT
Front Axle

:2011/01SILVERADO 2500 2018/12 19256660 D M20x1,5

:2011/01SILVERADO 3500 2018/12 22913605 M M16x1,5

:L 338

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 8

MAY 2019



WISHBONE

31210AP CHEVROLET

LEFT
* Handed : 31211AP
Front Axle

:2010/01SUBURBAN 1500 - 12475475 M M16x2

:2010/01SUBURBAN 2500 - 15103878 ID Ø16,7

:15103880 bl 75 - 98

:l 518,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18492AP BALL JOINT (LEFT & RIGHT)
19210782
2612756
88982337

31212AP SILENTBLOCK (LEFT & RIGHT) 12475475-P
12475476-P

31213AP SILENTBLOCK (LEFT & RIGHT) 12475475-P1
12475476-P1

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 9

MAY 2019



WISHBONE

31211AP CHEVROLET

RIGHT
* Handed : 31210AP
Front Axle

:2010/01SUBURBAN 1500 - 12475476 M M16x2

:2010/01SUBURBAN 2500 - 15103879 ID Ø16,7

:15103881 bl 75 - 98

:l 518,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18492AP BALL JOINT (LEFT & RIGHT)
19210782
2612756
88982337

31212AP SILENTBLOCK (LEFT & RIGHT) 12475475-P
12475476-P

31213AP SILENTBLOCK (LEFT & RIGHT) 12475475-P1
12475476-P1

COMPONENT PART NUM. COMPONENT NAME OEM NO

PITMAN ARM

31225AP CHEVROLET

CENTER
Front Axle

:2015/01SILVERADO 2500 HD - 19256664 M M16x2

:2015/01SILVERADO 3500 HD - 23198645 L 157

:23445899 D Ø38,1

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 10

MAY 2019



DRAGLINK

31244AP CHEVROLET

CENTER
Front Axle

:2010/01SUBURBAN 1500 - 12471381 M M14x1,5

:2010/01SUBURBAN 2500 - L 1373

:PD Ø32

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12199AP AXIAL JOINT (LEFT & RIGHT) 12371381
19149619

COMPONENT PART NUM. COMPONENT NAME OEM NO

BALL JOINT

31269AP CHEVROLET

LEFT & RIGHT
Front Axle

:1997/01CORVETTE 2017/12 10279466 CL Ø20

:CU Ø14,4

:M M14x2

:T Ø49,2

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 11

MAY 2019



AXIAL JOINT

31296AP CHEVROLET

LEFT & RIGHT
Front Axle

:2006/01COLORADO 2007/12 19133626 D M16x1,5

:M M14x1,5

:L 285,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

31309AP CHEVROLET

LEFT & RIGHT
Front Axle

1989/01GEO METRO 2001/12 91174162

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 12

MAY 2019



STRUT CONTROL ARM

30778AP CHRYSLER

LEFT & RIGHT
Rear Axle

:2004/09300 C 2010/12 68045329AA L 262

:2004/09300 C Saloon 2010/12 68045329AB ID Ø12,2

2004/09300 C Touring (LX) 2010/12

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

30779AP SILENTBLOCK (LEFT & RIGHT) 68045329AB-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 13

MAY 2019



WISHBONE

28110AP CITROEN

LEFT
* Handed : 28111AP
Front Axle

:2014/04C1 II - 1614191480 M M12x1,25

:B000770280 ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
141580
3520Q2S3
3521L3S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 14

MAY 2019



WISHBONE

28111AP CITROEN

RIGHT
* Handed : 28110AP
Rear Axle

:2014/04C1 II - 1614191680 M M12x1,25

:B000770180 ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
141580
3520Q2S3
3521L3S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

STABILIZER

31274AP CITROEN

LEFT & RIGHT
Rear Axle

:2011/11DS5 - 517857 M M10x1,5

:L 177,5

:D Ø8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 15

MAY 2019



AXIAL JOINT

18541AP DODGE

LEFT & RIGHT
Front Axle

:2000/01DAKOTA 2004/12 52106405AJ D M24x1,5

:2000/01DAKOTA 2004/01 52106405AO M M16x1,5

:2000/01DURANGO 2003/12 L 266,5

2000/01DURANGO 4X4 2004/01

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31224AP DODGE

LEFT & RIGHT
Front Axle

:2014/01RAM 2500 - 68005460AA M M12x1,75

:68235278AA L 241

:D Ø10

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 16

MAY 2019



AXIAL JOINT

31254AP DODGE

LEFT & RIGHT
Front Axle

:2000/01NEON 2005/12 4656747AH D M14x1,5

:5093460AA M M14x1,5

:5093465AA L 306,3

5093467AA

5105330AA

5272500AE

68039889AA

68040222AA

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 17

MAY 2019



WISHBONE

31188AP FIAT

LEFT
* Handed : 20974AP
Front Axle

:2007/10500
Xenon Link - 51860383 ID Ø12,2 - Ø14,4

:2009/01500
Xenon Link 2011/01 52045069 bl 52 - 52,5

:2007/01500 C
Xenon Link - l 272,3

2009/09500 C
Xenon Link -

-FIAT - 500
Xenon Link -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18324AP SILENTBLOCK (LEFT & RIGHT) 50703231P
X490

24246AP SILENTBLOCK (LEFT & RIGHT) 50709579-PART

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 18

MAY 2019



WISHBONE

26046AP FORD

LEFT
* Handed : 26047AP
Front Axle

:2014/09MONDEO (CNG) - 1927132 ID Ø16,1

:2180769 bl 59,5

:5303329 l 213,6

FG9C3A053ANA

FG9C3A053ANB

FG9C3A053ANC

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

26048AP SILENTBLOCK (LEFT & RIGHT) DG9C3C377ANB

26049AP SILENTBLOCK (LEFT)
5303329-P
FG9C-3A053-ANB-P
FG9C3A053ANA-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 19

MAY 2019



WISHBONE

26047AP FORD

RIGHT
* Handed : 26046AP
Front Axle

:2014/09MONDEO (CNG) - 2180767 ID

:5303328 bl 59,5

:FG9C3A052ANA l 213,6

FG9C3A052ANB

FG9C3A052ANC

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

26048AP SILENTBLOCK (LEFT & RIGHT) DG9C3C377ANB

26050AP SILENTBLOCK (RIGHT) 5303328-P
FG9C3A052ANA-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 20

MAY 2019



WISHBONE

27680AP FORD

LEFT
* Handed : 27681AP
Front Axle

:2013/01FUSION - DG9Z3079A ID Ø16,1

:DG9Z3079B bl 59,5

:FG9Z3079A l 213,6

FG9Z3079C

GS7Z3079A

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

26048AP SILENTBLOCK (LEFT & RIGHT) DG9C3C377ANB

26049AP SILENTBLOCK (LEFT)
5303329-P
FG9C-3A053-ANB-P
FG9C3A053ANA-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 21

MAY 2019



WISHBONE

27681AP FORD

RIGHT
* Handed : 27680AP
Front Axle

:2013/01FUSION - 1927131 ID Ø16,1

:DG9Z3078A bl 59,5

:DG9Z3078B l 213,6

FG9Z3078A

FG9Z3078C

GS7Z3078A

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

26048AP SILENTBLOCK (LEFT & RIGHT) DG9C3C377ANB

26050AP SILENTBLOCK (RIGHT) 5303328-P
FG9C3A052ANA-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 22

MAY 2019



STABILIZER

31226AP FORD

LEFT & RIGHT
Front Axle

:2004/01F-250 SUBER DUTY 2012/12 F81Z5K484CA M M12x1,75

:2004/01F-350 SUBER DUTY 2012/12 L 302,5

:D Ø14

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

27080AP SILENTBLOCK (LEFT & RIGHT) F17Z5A638AA

COMPONENT PART NUM. COMPONENT NAME OEM NO

DRAGLINK

31253AP FORD

CENTER
Front Axle

:2007/01F-250 SUPER DUTY 2016/12 5C3Z3281BA L 905

:2007/01F-350 SUPER DUTY 2016/12 7C3Z3281B PD Ø44,5

7C3Z3281EA

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 23

MAY 2019



TIE ROD

31263AP FORD

CENTER
Front Axle

:2011/01F-250 SUPER DUTY 2016/12 BC3Z3304A CL Ø20,6

:2011/01F-350 SUPER DUTY 2016/12 CU Ø18,4

:M M16x1,5

:L 875

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD

31266AP FORD

CENTER
Front Axle

:2008/01F-250 SUPER DUTY 2010/12 AC3Z3304B CL Ø20,6

:2004/01F-350 SUBER DUTY 2012/12 CU Ø18,4

:M M16x1,5

:L 886

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 24

MAY 2019



TIE ROD

31267AP FORD

CENTER
Front Axle

:2011/01F-250 SUPER DUTY 2016/12 BC3Z3304C CL Ø20,6

:2011/01F-350 SUPER DUTY 2016/12 CU Ø18,4

:2011/01F-450 SUPER DUTY 2016/12 M M16x1,5

:2010/01F-550 SUPER DUTY 2016/12 L 936

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

31280AP FORD

LEFT & RIGHT
Front Axle

:2004/01FREESTAR 2007/12 3F2Z3280AA D W15/16"-20

:1999/01WINDSTAR 2004/01 M M14x1,5

:L 373

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 25

MAY 2019



STABILIZER

31292AP FORD

LEFT
* Handed : 31293AP
Front Axle

:2009/11FLEX - 8A8Z5K483A M M12x1,75

:L 280

:D Ø11

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31293AP FORD

RIGHT
* Handed : 31292AP
Front Axle

:2009/11FLEX - 8A8Z5K484A M M12x1,75

:L 280

:D Ø11

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 26

MAY 2019



PITMAN ARM

31299AP FORD

CENTER
Front Axle

:1999/01F-250 - F81Z3590BA L 165

:1999/01F-350 2016/12 D Ø29,2

1999/01F-450 -

1999/01F-550 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31300AP FORD

LEFT & RIGHT
Rear Axle

:2017/01F-250 SUPER DUTY - F81Z5K484AA M M12x1,75

:2017/01F-350 SUPER DUTY - L 276

:2005/01F-450 SUPER DUTY 2016/12 D Ø14

2010/01F-550 SUPER DUTY 2016/12

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

27080AP SILENTBLOCK (LEFT & RIGHT) F17Z5A638AA

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 27

MAY 2019



STABILIZER

31304AP FORD

LEFT & RIGHT
Rear Axle

:1999/01F-250 SUPER DUTY 2018/12 7C3Z5K484F M M12x1,75

:1999/01F-350 2016/12 DC3Z5K484A L 351,5

:2011/01F-450 SUPER DUTY 2016/12 F81Z5K484DA D Ø14

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

27080AP SILENTBLOCK (LEFT & RIGHT) F17Z5A638AA

COMPONENT PART NUM. COMPONENT NAME OEM NO

PITMAN ARM

31305AP FORD

CENTER
Front Axle

:2000/01EXCURSION 2005/12 5C3Z3590AA L 146,5

:2004/01F-250 SUBER DUTY 2012/12 D Ø37,25

2004/01F-350 SUBER DUTY 2012/12

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 28

MAY 2019



AXIAL JOINT

30647AP GMC

LEFT & RIGHT
Front Axle

:2011/01SIERRA 2500 HD 2015/01 22913605 D M20x1,5

:2011/01SIERRA 3500 2018/01 M M16x1,5

:L 338

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

WISHBONE

31210AP GMC

LEFT
* Handed : 31211AP
Front Axle

:2011/01SIERRA 2500 HD 2015/01 20832022 M M16x2

:2011/01SIERRA 3500 2018/01 20832024 ID Ø16,7

:2011/01YUKON XL 1500 - 25909326 bl 75 - 98

:2011/01YUKON XL 2500 - l 518,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18492AP BALL JOINT (LEFT & RIGHT)
19210782
2612756
88982337

31212AP SILENTBLOCK (LEFT & RIGHT) 20832022-P
20832023-P

31213AP SILENTBLOCK (LEFT & RIGHT) 20832022-P1
20832023-P1

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 29

MAY 2019



WISHBONE

31211AP GMC

RIGHT
* Handed : 31210AP
Front Axle

:2011/01SIERRA 2500 HD 2015/01 20832023 M M16x2

:2011/01SIERRA 3500 2018/01 20832025 ID Ø16,7

:2011/01YUKON XL 1500 - 25909327 bl 75 - 98

:2011/01YUKON XL 2500 - l 518,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18492AP BALL JOINT (LEFT & RIGHT)
19210782
2612756
88982337

31212AP SILENTBLOCK (LEFT & RIGHT) 20832022-P
20832023-P

31213AP SILENTBLOCK (LEFT & RIGHT) 20832022-P1
20832023-P1

COMPONENT PART NUM. COMPONENT NAME OEM NO

PITMAN ARM

31225AP GMC

CENTER
Front Axle

:2015/01SIERRA 2500 HD - 19256664 M M16x2

:2015/01SIERRA 3500 HD - 23198645 L 157

:23445899 D Ø38,1

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 30

MAY 2019



DRAGLINK

31244AP GMC

CENTER
Front Axle

:2011/01YUKON XL 1500 - 12471381 M M14x1,5

:2011/01YUKON XL 2500 - 15891517 L 1373

:PD Ø32

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12199AP AXIAL JOINT (LEFT & RIGHT)
1303002
15295861
26059210

COMPONENT PART NUM. COMPONENT NAME OEM NO

AXIAL JOINT

31296AP GMC

LEFT & RIGHT
Front Axle

:2006/01CANYON 2007/12 19133626 D M16x1,5

:M M14x1,5

:L 285,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 31

MAY 2019



AXIAL JOINT

31239AP HYUNDAI

LEFT & RIGHT
Front Axle

:2012/06SANTA FE III (DM) - 577242W500 D M18x1,5

:577242W550 M M16x1,5

:L 211,8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

31296AP ISUZU

LEFT & RIGHT
Front Axle

:2007/01I-290 2008/12 8191336260 D M16x1,5

:M M14x1,5

:L 285,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 32

MAY 2019



TIE ROD END

31313AP JAGUAR

LEFT
* Handed : 31314AP
Front Axle

:2013/10F-TYPE (X152) - T2R1328 D M14x1,5

:M M14x2

:L 196,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD END

31314AP JAGUAR

RIGHT
* Handed : 31313AP
Front Axle

:2013/10F-TYPE (X152) - T2R1326 D M14x1,5

:M M14x2

:L 196,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 33

MAY 2019



STRUT CONTROL ARM

26503AP JEEP

LEFT
* Handed : 26504AP
Rear Axle

:2015/01CHEROKEE (KL) - 05090045AE L 352,5

K05090045AC

K05090045AD

K05090045AE

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STRUT CONTROL ARM

26504AP JEEP

RIGHT
* Handed : 26503AP
Rear Axle

:2015/01CHEROKEE (KL) - 05090044AE L 352,5

K05090044AC

K05090044AD

K05090044AE

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 34

MAY 2019



TIE ROD END

30767AP JEEP

CENTER
Front Axle

:2007/04WRANGLER III (JK)
RHD - 52126113AE CL Ø18,8

:K52126113AE CU Ø16,55

:M M14x1,5

:L 1281

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STRUT CONTROL ARM

30790AP JEEP

CENTER
Upper Rear Axle

:1996/08WRANGLER II (TJ) 2008/12 52087878 L 819,5

:1996/08WRANGLER II (TJ) 2008/12 K52087878 PD Ø27

:ID Ø12,2

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

30797AP SILENTBLOCK (LEFT & RIGHT) 52087878-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 35

MAY 2019



STABILIZER

31259AP LEXUS

LEFT
* Handed : 31260AP
Front Axle

:1990/01LS400 2000/12 4881050010 M M12x1,25

:4881050011 L 122

:D Ø8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31260AP LEXUS

RIGHT
* Handed : 31259AP
Front Axle

:1990/01LS400 2000/12 4882050010 M M12x1,25

:4882050011 L 122

:D Ø8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 36

MAY 2019



STABILIZER

31261AP LEXUS

LEFT
* Handed : 31262AP
Rear Axle

:2001/01LS430 2006/12 4884050010 M M10x1,25

:2002/01SC430 2010/12 L 74

:D Ø9

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31262AP LEXUS

RIGHT
* Handed : 31261AP
Rear Axle

:2001/01LS430 2006/12 4883050030 M M10x1,25

:2002/01SC430 2010/12 L 74

:D Ø9

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 37

MAY 2019



TIE ROD END

31311AP LEXUS

LEFT
* Handed : 31312AP
Front Axle

:2007/01LS460 2016/12 4547059095 CL Ø17

:CU Ø12,6

:D M15x1,5

:M M12x1,25

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD END

31312AP LEXUS

RIGHT
* Handed : 31311AP
Front Axle

:2007/01LS460 2016/12 4546059085 CL Ø17

:CU Ø12,6

:D M15x1,5

:M M12x1,25

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 38

MAY 2019



STABILIZER

31292AP LINCOLN

LEFT
* Handed : 31293AP
Front Axle

:2009/01MKS 2015/01 8A8Z5K483A M M12x1,75

:L 280

:D Ø11

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER

31293AP LINCOLN

RIGHT
* Handed : 31292AP
Front Axle

:2009/01MKS 2015/01 8A8Z5K484A M M12x1,75

:L 280

:D Ø11

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 39

MAY 2019



AXIAL JOINT

31280AP MERCURY

LEFT & RIGHT
Front Axle

:2004/01MONTEREY 2007/12 3F2Z3280AA D W15/16"-20

:M M14x1,5

:L 373

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

31306AP MITSUBISHI

LEFT & RIGHT
Front Axle

:2003/09LANCER VII (CS_A, CT_A) 2013/12 MR403099 D M16x1,5

:M M14x1,5

:L 324

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 40

MAY 2019



BALL JOINT

24902AP NISSAN

LEFT & RIGHT
Front Axle

:1998/01FRONTIER 2004/12 545003S525-P CL Ø22

:1998/01FRONTIER 4X2 2004/01 545013S525-P CU Ø19,4

:1998/01FRONTIER 4X4 Y FRONTIER V6 2004/01 M M18x1,5

:T Ø52,2

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

AXIAL JOINT

31307AP NISSAN

LEFT & RIGHT
Front Axle

:2005/07NP300 (D40) NAVARA - 48521EB70A D M16x1,5

:2005/07NP300 (D40) NAVARA 4WD - D8521EB70A M M14x1,5

:D8E21EB70A L 216,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 41

MAY 2019



AXIAL JOINT

31308AP NISSAN

LEFT & RIGHT
Front Axle

:2016/01NP300 FRONTIER - 485214KH0A D M24x1,5

:2015/01NP300 PICK-UP 4x2 - M M16x1,5

:2015/01NP300 PICK-UP 4x4 - L 217,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

WISHBONE

28110AP PEUGEOT

LEFT
* Handed : 28111AP
Front Axle

:2014/05108 - 1614191480 M M12x1,25

:B000770280 ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
141580
3520Q2S3
3521L3S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 42

MAY 2019



WISHBONE

28111AP PEUGEOT

RIGHT
* Handed : 28110AP
Rear Axle

:2014/05108 - 1614191680 M M12x1,25

:B000770180 ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
141580
3520Q2S3
3521L3S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

STABILIZER

31274AP PEUGEOT

LEFT & RIGHT
Rear Axle

:2010/11508 I (8D_) - 517857 M M10x1,5

:2010/11508 SW I (8E_) - L 177,5

:D Ø8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 43

MAY 2019



STABILIZER

31270AP RENAULT

LEFT & RIGHT
Front Axle

:2010/02FLUENCE (L30_) - 546180006R M M10x1,5

:546188879R L 274

:D Ø10

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD END

31297AP SATURN

LEFT & RIGHT
Front Axle

:2001/01L300 2005/12 21019184 CL Ø16

:2000/01LS SEDAN 2003/12 CU Ø13,3

:2000/01LW WAGON 2003/12 D M14x1,5

:M M12x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 44

MAY 2019



TIE ROD

31271AP SEAT

LEFT
* Handed : 31272AP
Front Axle

:1999/11LEON (1M1) 2006/06 8N0422803D D M16x1,5

:1999/04TOLEDO II (1M2) 2006/05 M M12x1,5

:1999/04TOLEDO II Saloon (1M2) 2006/05 ld M16x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12428AP TIE ROD END (LEFT) 8N0422811A

31273AP AXIAL JOINT (LEFT & RIGHT) 8N0422803D-P
8N0422804D-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 45

MAY 2019



TIE ROD

31272AP SEAT

RIGHT
* Handed : 31271AP
Front Axle

:1999/11LEON (1M1) 2006/06 8N0422804D D M16x1,5

:1999/04TOLEDO II (1M2) 2006/05 M M12x1,5

:1999/04TOLEDO II Saloon (1M2) 2006/05 ld M16x1,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

12427AP TIE ROD END (RIGHT) 8N0422812
8N0422812A

31273AP AXIAL JOINT (LEFT & RIGHT) 8N0422803D-P
8N0422804D-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

AXIAL JOINT

31273AP SEAT

LEFT & RIGHT
Front Axle

:1999/11LEON (1M1) 2006/06 8N0422803D-P D M16x1,5

:1999/04TOLEDO II (1M2) 2006/05 8N0422804D-P M M16x1,5

:1999/04TOLEDO II Saloon (1M2) 2006/05 L 354,3

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 46

MAY 2019



AXIAL JOINT

31309AP SUZUKI

LEFT & RIGHT
Front Axle

1995/01SWIFT 2001/01 4883050G20

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

DRAGLINK

18525AP TOYOTA

CENTER
Front Axle

:2004/01HILUX 4X2 2005/01 4545039115 CL Ø14 - Ø16

:2004/01Hilux 2005/12 4545039125 CU Ø12,5 - Ø14,5

:1984/01PICKUP 1994/01 4545039135 M M12x1,25 - M14x1,5

:1984/01Pickup 1988/12 4545039145 L 764

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 47

MAY 2019



WISHBONE

28110AP TOYOTA

LEFT
* Handed : 28111AP
Front Axle

:2014/05AYGO (B4) (KGB40) - 480690H020 M M12x1,25

:ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
3521L3S3
480680H010S3
480690H010S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 48

MAY 2019



WISHBONE

28111AP TOYOTA

RIGHT
* Handed : 28110AP
Rear Axle

:2014/05AYGO (B4) (KGB40) - 480680H020 M M12x1,25

:ID Ø12,2 - Ø19

:bl 52,7 - 62,2

:l 287,40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

20008AP BALL JOINT (LEFT & RIGHT)
3520Q2S1
3521L3S1
480680H010S1
4806859035S1

20009AP SILENTBLOCK (LEFT & RIGHT)
141480
3520Q2S2
3521L3S2
480680H010S2

20010AP SILENTBLOCK (LEFT & RIGHT)
3521L3S3
480680H010S3
480690H010S3
486550H010

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 49

MAY 2019



TIE ROD END

31278AP TOYOTA

LEFT & RIGHT
Front Axle

:1983/01Camry 1986/12 4546039165-M CL Ø15

:1983/01CAMRY 1991/01 CU Ø12,5

:1986/10CAMRY (_V2_) 1991/06 D M14x1,5

:1983/01CAMRY Liftback (_V1_) 1988/01 M M12x1,25

:1983/02CAMRY Saloon (_V1_) 1988/01 L 149

1986/10CAMRY Saloon (_V2_) 1991/06

1986/11CAMRY Station Wagon (_V2_) 1991/06

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 50

MAY 2019



RUBBER TO METAL
www.aplus-automotive.com

MAY 2019



SILENTBLOCK

28073AP AUDI

LEFT & RIGHT
Rear Axle

:2014/09TT (FV3) - 5Q0505553 OD Ø37,2

:2014/11TT Roadster (FV9) - ID Ø12,2

:h 49,8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER BAR BEARING

31235AP AUDI

LEFT & RIGHT
Front Axle

:2015/08A4 Avant (8W5, B9) - 8K0411327B ID Ø26

:2017/01A5 (F5A) - h 44,5

2016/11A5 Cabrio (F57) -

2016/09A5 Sportback (F5A) -

2011/03A6 (4G2, C7) -

2011/05A6 Avant (4G5, C7) -

2010/10A7 Sportback (4GA) -

2010/01A7 SPORTBACK 4GA -

2009/11A8 (4H_) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 1

MAY 2019



STABILIZER BAR BEARING

31236AP AUDI

LEFT & RIGHT
Front Axle

:2015/08A4 Avant (8W5, B9) - 4D0411327F ID Ø24,5

:2017/01A5 (F5A) - 4D0411327H h 44,5

2016/11A5 Cabrio (F57) -

2016/09A5 Sportback (F5A) -

2011/03A6 (4G2, C7) -

2011/05A6 Avant (4G5, C7) -

2009/11A8 (4H_) -

2008/11Q5 (8R) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER BAR BEARING

31237AP AUDI

LEFT & RIGHT
Front Axle

:1994/11A4 (8D2, B5) 2000/11 4D0411327G ID Ø23

:2007/11A4 (8K2, B8) - h 44,5

1994/11A4 Saloon (8D2, B5) 2000/11

2007/11A4 Saloon (8K2, B8) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 2

MAY 2019



STABILIZER BAR BEARING

31238AP AUDI

LEFT & RIGHT
Front Axle

:2007/11A4 (8K2, B8) - 8K0411327A ID Ø27

:2007/11A4 Saloon (8K2, B8) - h 44,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

28797AP BMW

LEFT & RIGHT
Rear Axle

:2014/04i8 (I12) - 33326862215-P OD Ø55

:33326862216-P ID Ø14,2

:h 62

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 3

MAY 2019



SILENTBLOCK

31212AP CHEVROLET

LEFT & RIGHT
Lower Front Axle

:2010/01SUBURBAN 1500 - 12475475-P OD Ø46

:2010/01SUBURBAN 2500 - 12475476-P ID Ø16,7

:h 98

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

31213AP CHEVROLET

LEFT & RIGHT
Lower Front Axle

:2010/01SUBURBAN 1500 - 12475475-P1 OD Ø46

:2010/01SUBURBAN 2500 - 12475476-P1 ID Ø16,7

:h 75

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 4

MAY 2019



SILENTBLOCK

30779AP CHRYSLER

LEFT & RIGHT
Rear Axle

:2004/09300 C 2010/12 68045329AB-P OD Ø39,5

:2004/09300 C Saloon 2010/12 ID Ø12,2

:2004/09300 C Touring (LX) 2010/12 h 37,80

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER BAR BEARING

29067AP DODGE

2006/01RAM 1500 2008/12 52121235AA-P

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 5

MAY 2019



SILENTBLOCK

30078AP DODGE

LEFT & RIGHT
Front Axle

:2007/01CALIBER 2012/01 05105041AB-P OD Ø60,2

:ID Ø14,2

:h 53,7

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

26048AP FORD

LEFT & RIGHT
Front Axle

:2014/09MONDEO (CNG) - DG9C3C377ANB OD Ø66,1

:ID Ø16,1

:h 59,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 6

MAY 2019



SILENTBLOCK

29040AP FORD

LEFT & RIGHT
Rear Axle

:2017/05FIESTA VII (CE1) - 2167812 OD Ø81,5

:H1BC5K653AD ID Ø16,4

:h 84,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

31212AP GMC

LEFT & RIGHT
Lower Front Axle

:2011/01SIERRA 2500 HD 2015/01 20832022-P OD Ø46

:2011/01SIERRA 3500 2018/01 20832023-P ID Ø16,7

:2011/01YUKON XL 1500 - h 98

2011/01YUKON XL 2500 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 7

MAY 2019



SILENTBLOCK

31213AP GMC

LEFT & RIGHT
Lower Front Axle

:2011/01SIERRA 2500 HD 2015/01 20832022-P1 OD Ø46

:2011/01SIERRA 3500 2018/01 20832023-P1 ID Ø16,7

:2011/01YUKON XL 1500 - h 75

2011/01YUKON XL 2500 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

29873AP HONDA

LEFT & RIGHT
Front Axle

:2015/09JAZZ IV (GK_) - 51350T5AJ01-P1 OD Ø63,9

:51360T5AJ01-P1 ID Ø14,2

:h 56

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 8

MAY 2019



SILENTBLOCK

23257AP JAGUAR

LEFT & RIGHT
Front Axle

:1999/01S-TYPE (CCX) 2007/10 2W933C297AD OD Ø66

:1999/01S-TYPE Saloon (CCX) 2007/10 C2C4437 ID Ø14,2

:2008/03XF (_J05_, CC9) 2015/04 h 65

2015/05XF (X260) -

2003/05XJ (X350, X358) 2009/03

2003/05XJ Saloon (X350, X358) 2009/03

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

30078AP JEEP

LEFT & RIGHT
Front Axle

:2006/09COMPASS (MK49) - 05105041AB-P OD Ø60,2

:-Jeep Compass (06») Izquierda
(c/rotula) - ID Ø14,2

:2008/01PATRIOT (MK74) - h 53,7

2007/01PATRIOT-COMPASS 2015/01

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 9

MAY 2019



SILENTBLOCK

30797AP JEEP

LEFT & RIGHT
Rear Axle

:1996/08WRANGLER II (TJ) 2008/12 52087878-P OD Ø38,8

:1996/08WRANGLER II (TJ) 2008/12 ID Ø12,2

:h 40,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

31240AP RENAULT

LEFT & RIGHT
Rear Axle

:2002/11MEGANE II (BM0/1_, CM0/1_) - 7701479190 OD Ø69

:2003/09MEGANE II Coupé-Cabriolet (EM0/1_) - 7701479191 ID Ø12

:2003/08MEGANE II Estate (KM0/1_) - 8200038243 h 90

2003/08MEGANE II Grandtour (KM0/1_) -

2003/09MEGANE II Saloon (LM0/1_) -

2003/08MEGANE II Sport Tourer (KM0/1_) -

2003/06SCÉNIC II (JM0/1_) -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 10

MAY 2019



SILENTBLOCK

28073AP SEAT

LEFT & RIGHT
Rear Axle

:2016/05ATECA (KH7) - 5Q0505553 OD Ø37,2

:ID Ø12,2

:h 49,8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

28073AP SKODA

LEFT & RIGHT
Rear Axle

:2015/03SUPERB III (3V3) - 5Q0505553 OD Ø37,2

:2015/03SUPERB III STATION WAGON (3V5) - ID Ø12,2

:h 49,8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 11

MAY 2019



STABILIZER BAR BEARING

31236AP SKODA

LEFT & RIGHT
Front Axle

:2002/02SUPERB (3U4) 2008/03 4D0411327F ID Ø24,5

:2002/02SUPERB Saloon (3U4) 2008/03 4D0411327H h 44,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER BAR BEARING

31237AP SKODA

LEFT & RIGHT
Front Axle

:2002/02SUPERB (3U4) 2008/03 4D0411327G ID Ø23

:2002/02SUPERB Saloon (3U4) 2008/03 h 44,5

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 12

MAY 2019



SILENTBLOCK

28073AP VW

LEFT & RIGHT
Rear Axle

:2014/11PASSAT (G32) - 5Q0505553 OD Ø37,2

:2015/05TOURAN (5T1) - ID Ø12,2

:h 49,8

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

STABILIZER BAR BEARING

31236AP VW

LEFT & RIGHT
Front Axle

:1996/08PASSAT (3B2) 2000/11 4D0411327F ID Ø24,5

:1996/08PASSAT Saloon (3B2) 2000/11 4D0411327H h 44,5

1997/05PASSAT Variant (3B5) 2000/11

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 13

MAY 2019



STABILIZER BAR BEARING

31237AP VW

LEFT & RIGHT
Front Axle

:1996/08PASSAT (3B2) 2000/11 4D0411327G ID Ø23

:1996/08PASSAT Saloon (3B2) 2000/11 h 44,5

2000/11PASSAT Variant (3B6) 2005/08

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

SILENTBLOCK

31241AP VW

LEFT & RIGHT
Rear Axle

:2017/01CRAFTER (SY_SZ) - 2N0511413 OD Ø60,8

:ID Ø12,1

:h 90

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 14

MAY 2019



SILENTBLOCK

31243AP VW

LEFT & RIGHT
Rear Axle

:2011/12UP - 1S0501541B OD Ø58

:1S0501541F ID Ø10,2

:h 64

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 15

MAY 2019



COMMERCIAL VEHICLES
www.aplus-automotive.com

MAY 2019



TORQUE ROD

22841AP DAF

:2001/01CF 75 : FAG 75.250,FAN 75.250 2013/05 1274741 L 600

:2001/01CF 75 : FAG 75.310,FAN 75.310 2013/05 2118343 PD 38

:2001/01CF 75 : FAG 75.360, FAN 75.360 2013/05 l 115

:2001/01CF 85 : FAG 85.340,FAN 85.340 2013/05 ID 17

2006/10CF 85 : FAG 85.360,FAN 85.360 2013/05

2001/01CF 85 : FAG 85.380,FAN 85.380 2013/05

2005/10CF 85 : FAG 85.410,FAN 85.410 2013/05

2001/01CF 85 : FAG 85.430,FAN 85.430 2013/05

2005/10CF 85 : FAG 85.460,FAN 85.460 2013/05

2001/01CF 85 : FAG 85.480,FAN 85.480 2013/05

2005/10CF 85 : FAG 85.510,FAN 85.510 2013/05

2006/10CF 85 : FAN 85.360 2013/05

2006/10CF 85 : FAN 85.410 2013/05

2006/10CF 85 : FAN 85.460 2013/05

2006/10CF 85 : FAN 85.510 2013/05

2001/01CF 85 : FAT 85.380 2013/05

2001/01CF 85 : FTG 85.340 2013/05

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18049AP SILENTBLOCK 1274741-P

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 1

MAY 2019



TIE ROD

31268AP DAF

:2012/10XF : FAD 460 - 1877325 CL 30,2

:2012/10XF : FAD 510 - CU 27,1

:L 686

:PD 38

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 2

MAY 2019



TIE ROD

23114AP IVECO

:2000/09EUROCARGO I-III : 100 E 18 K tector,
100 E 18 DK tector 2015/09 5801645283 CL 30,2

:2000/09EUROCARGO I-III : 100 E 18 tector,
100 E 18 P tector, 100 E 18 FP tector 2015/09 98473328 CU 27,1

:2000/09EUROCARGO I-III : 100 E 18 W tector,
100 E 18 WS tector 2015/09 L 895

:2000/09EUROCARGO I-III : 100 E 21 K tector,
100 E 21 DK tector 2015/09 PD 50

2000/09EUROCARGO I-III : 100 E 21 W tector,
100 E 21 WS tector 2015/09

2000/09EUROCARGO I-III : 100 E 21, 100 E
21 DP tector, 100 E 22 tector 2015/09

2006/09EUROCARGO I-III : 100 E 22 K tector 2015/09

2006/09EUROCARGO I-III : 100 E 22 W tector,
100 E 22 WS tector 2015/09

2006/05EUROCARGO I-III : 110 E 22 W tector 2015/09

2006/05EUROCARGO I-III : 110 E 22 WS
tector 2015/09

1991/01EUROCARGO I-III : 135 E 18 W 2015/09

1991/01EUROCARGO I-III : 135 E 18 WR 2015/09

1991/01EUROCARGO I-III : 135 E 21 W 2015/09

1991/01EUROCARGO I-III : 135 E 23 W 2015/09

1991/01EUROCARGO I-III : 135 E 23 WR 2015/09

2005/05EUROCARGO I-III : 140 E 18 K 2015/09

2000/09EUROCARGO I-III : 140 E 18 W tector 2015/09

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 3

MAY 2019



TORQUE ROD

23414AP IVECO

:-CITYCLASS 25 - 42575346 L 380

:-CITYCLASS 29 - 500367916 PD 40

:-CITYCLASS 35 - l 100

:-CITYCLASS 491.22 CNG - ID 15

-CITYCLASS 491.24 CNG -

-CITYCLASS 491.27 -

-CITYCLASS 591.27 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

16297AP REPAIR KIT 42535445

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 4

MAY 2019



TORQUE ROD

23421AP IVECO

:-CITYCLASS 25 - 99432565 L 510

:-CITYCLASS 29 - PD 40

:-CITYCLASS 31 - l 100

:-CITYCLASS 35 - ID 15

-CITYCLASS 491.22 -

-CITYCLASS 491.22 CNG -

-CITYCLASS 491.27 -

-CITYCLASS 591.22 -

-CITYCLASS 591.22 CNG -

-CITYCLASS 591.24 CNG -

-CITYCLASS 591.27 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

16297AP REPAIR KIT 42535445

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 5

MAY 2019



STABILIZER BAR BEARING

31153AP IVECO

:2000/09EUROCARGO I-III : 120 E 18 tector,
120 E 18 D tector, 120 E 18 DP tector 2015/09 98407168 OD 72,8

:2000/09
EUROCARGO I-III : 120 E 21

tector,120 E 21 P tector, 120 E 21 FP
tector

2015/09 ID 44

:2000/09EUROCARGO I-III : 120 E 24, 120 E
24 DP tector, 120 E 25 FP tector 2015/09 h 73

2000/09EUROCARGO I-III : 120 E 28 tector,
120 E 28 P tector, 120 E 28 FP tector 2015/09

2000/09EUROCARGO I-III : 120 EL 21, 120 EL
21 P tector, 120 E 22, 120 EL 22 tector 2015/09

1991/01EUROCARGO I-III : 130 E 18 2015/09

1991/01EUROCARGO I-III : 130 E 18 K 2015/09

2000/09EUROCARGO I-III : 130 E 18 K tector,
130 E 18 DK tector 2015/09

2000/09EUROCARGO I-III : 130 E 18 tector,
130 E 18 D tector, 130 E 18 DP tector 2015/09

2000/09EUROCARGO I-III : 130 E 24 K tector,
130 E 24 DK tector 2015/09

2000/09EUROCARGO I-III : 130 E 24 tector,
130 E 24 D tector, 130 E 24 DP tector 2015/09

2005/05EUROCARGO I-III : 140 E 18 K 2015/09

2006/09EUROCARGO I-III : 140 E 18 K tector,
140 E 18 DK tector 2015/09

2006/09EUROCARGO I-III : 140 E 18 tector,
140 E 18 P tector, 140 E 18 D FP tector 2015/09

2000/09EUROCARGO I-III : 140 E 18 W tector 2015/09

2005/05EUROCARGO I-III : 140 E 18, 140 E
18 P, 140 E 18 FP 2015/09

2005/03EUROCARGO I-III : 140 E 21 tector,
140 E 21 P, 140 E 21 FP 2015/09

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 6

MAY 2019



TIE ROD

14998AP MERCEDES BENZ

CENTER

:2004/10ATEGO 2 712-2529 - 9723300003 CL 26,2

:9723300103 CU 23,5

:L 1612

:PD 40

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

11192AP TIE ROD END (RIGHT)
0003300248
0003303235
0003383410
0004632229

11193AP TIE ROD END (LEFT)
0003300035
0003300148
0014604348
3023300035

COMPONENT PART NUM. COMPONENT NAME OEM NO

REPAIR KIT

20465AP MERCEDES BENZ

:1982/07NG : 1222 1990/02 0005861035 OD 80

:1973/08NG : 2219 C,2219 CL 1996/09 h 46

1973/08NG : 2219,2219 L 1996/09

1973/08NG : 2220,2220 L 1996/09

1973/08NG : 2222,2222 L 1996/09

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 7

MAY 2019



TIE ROD

31284AP MERCEDES BENZ

:2013/04ECONIC 2 : 1830 LL - 9564600105 CL 32,2

:2013/04ECONIC 2 : 1835 LL - CU 28,9

:2013/04ECONIC 2 : 2630 LL - L 501

:2013/04ECONIC 2 : 2635 LL - PD 38

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 8

MAY 2019



TIE ROD

31288AP MERCEDES BENZ

:2013/04ATEGO 3 : 1518 K - 9674602905 CL 30,2

:2013/04ATEGO 3 : 1518, 1518 L - CU 27,1

:2013/04ATEGO 3 : 1521 K - L 857

:2013/04ATEGO 3 : 1521, 1521 L - PD 50

2013/04ATEGO 3 : 1523 K -

2013/04ATEGO 3 : 1523, 1523 L -

2013/04ATEGO 3 : 1524 K -

2013/04ATEGO 3 : 1524, 1524 L -

2013/04ATEGO 3 : 1527 F -

2013/04ATEGO 3 : 1527 K -

2013/04ATEGO 3 : 1527, 1527 L -

2013/04ATEGO 3 : 1530 F -

2013/04ATEGO 3 : 1530 K -

2013/04ATEGO 3 : 530, 1530 L -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 9

MAY 2019



TIE ROD

31264AP NEOPLAN

:11020293 CL 30,2

:N1011020293 CU 27,1

:L 517

:PD 38

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

TIE ROD

22969AP VOLVO

:1991/11FL 618 2000/03 20386336 CL 28,8

:1985/09FL 619 1994/11 22164206 CU 23,94

:85115618 L 845

:PD 52

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

18631AP REPAIR KIT
20894440
20937675
21264203
21646203

COMPONENT PART NUM. COMPONENT NAME OEM NO

www.aplus-automotive.com 10

MAY 2019



REPAIR KIT

24101AP VOLVO

:1993/08FH 12/340 - 1075266-K OD 68

:1993/08FH 12/380 - ID 30,1

:1993/08FH 12/420 - h 49

1998/08FH 12/460 -

2001/09FH 12/500 -

1993/08FH 16/470 1999/12

1993/08FH 16/520 2002/12

2003/01FH 16/540, FH 16/550 -

2003/01FH 16/550 -

2006/09FH 16/580 -

2003/01FH 16/610 -

2006/09FH 16/660 -

2009/01FH 16/700 -

2012/05FH 16/750 -

MODEL START
YEAR

END
YEAR OEM / COMPARISON NO TECHNICAL

SPECIFICATIONS

www.aplus-automotive.com 11

MAY 2019


